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1. Bbluucnure.
1) cosl7 °cos43” —sinl7°sin43°;
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2 ) COS—COS— —sin—sin— ;
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3) sinl2°cos18° + sin18°cos12°;

2. Hawngure.

1) sin 15°; 2) sin 105°; 3) cos75%; 4) sin75°.

3. Haiiaure 3HAYCHUS TPUTIOHOMETPUUYECKUX DYHKIMIT apryMeHTa o, ecJu:
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1)cosoz=E n 0<a< —; J)tga=-——- n — <a<2n;
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2)sma=—T un n<a< ?; 4)ctgoa=-T7T n §<a<n.
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4. Jlauo: sina = 1’ 90" < a < 180°. Haiyqure sin(a + 457).

5. Pemmre ypasuenue:
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1) cosx = —\«/)_— 2) cosx =

3) \/Qcos(;‘)—'+:3)+ 1=0.
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6. Pemmure ypasuenme:

9
l)sin.rz‘é:; 2) sinx = /2. Z)ﬁsirl(%—&r)—lz().




